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Note : Attempt any two questions from Section-A 

and any two questions four Section-B. 

Section-A 

1. What do you mean by process costing ? How is 

it different from job costing ? 3 + 7 

2. Explain the concept of ABC analysis in 

inventory management with suitable examples. 

      10 

3. Write short notes on any two of the following : 

      10 

 (a) Bin Card 
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 (b) Group Bonus Scheme 

 (c) Cost Centre 

 (d) Integrated Accounting 

Section-B 

4. From the following information prepare a cost 

sheet for the month of April, 2022 : 15 

Stock in hand on 1-4-22 :       ` 

Raw Materials 25,000 

Finished Goods 17,300 

Work-in-Progress 8,200 

Stock in hand on 30-4-22 :         ` 

Raw Materials 26,200 

Finished goods 15,700 

Work-in-Progress 9,100 

Carriage inwards 1,200 

Direct wages 17,200 

Indirect wages 800 

Direct Expenses 1,200 

Purchase of Raw materials 21,800 

Factory Overheads 8,300 

Administrative Overheads 3,500 

Selling overheads 3,900 

Sales 69,700 
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5. India Petro Ltd. showed a net loss of  

Rs. 2,08,000 as per their financial accounts for 

the year ended 31st March, 2022. As per the 

cost accounts the net loss was ` 1,64,000 for the 

same period. 

 From the following information, prepare a 

Memorandum Reconciliation Account : 15 

  ` 

(i) Factory overheads order-

recovered 13,000 

(ii) Administrative overheads over-

recovered 2,000 

(iii) Depreciation charged in 

Financial accounts 60,000 

(iv) Depreciation recovered in cost 

accounts 75,000 

(v) Interest on investments not 

shown in costs accounts 10,000 

(vi) Income tax provided 60,000 

(vii) Transfer fee (in financial books) 1,000 

(viii) Stores adjustment credited in 

financial accounts 1,000 
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6. Calculate the cost of each process and total cost 

of production from the data given below : 15 

Particulars 
Process-X 

(`)  

Process-Y 

(`)  

Process-Z 

(`)  

 Materials 2,250 750 300 

 Labour 1,200 3,000 900 

 Fuel 300 200 400 

 Carriage 200 300 100 

 Works 

 Overheads 1,890 2,580 1,875 

 Indirect expenses Rs. 1,275 should be 

apportioned on the basis of Labour Cost. 
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` 

25,000 

17,300 

8,200 

 

26,200 

15,700 

9,100 

1,200 
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17,200 

800 

21,800 

1,200 

8,300 

3,500 

3,900 

69,700 

15 

                                                                             ` 

(i) 

13,000 

(ii) 

2,000 
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(iii) 
60,000 

(iv) 
75,000 

(v) 

10,000 

(vi) 
60,000 

(vii) 
1,000 

(viii) 

1,000 

X

`

Y

`

Z  

`

2,250 750 300 

1,200 3,000 900 

300 200 400 

200 300 100 

1,890 2,580 1,875 
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